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To:
TCAM, GSM Association-TWG, GTAAB

Copy:
ETSI SMG, ETSI ERM, GSM Association, 3GPP TSG RAN, 3GPP TSG T, 3GPP TSG SA, ECTEL TMS

From: ETSI SMG2

LS on replacement antennas
SMG2 has received an input containing measurement results on twinkling replacement antennas for GSM MS. This is attached.

These antennas are not provided by the original MS manufacturer, but are commercially available for a wide range of MS. These MS are becoming increasingly popular especially with younger people.

The LEDs in the antenna that produce the twinkling light effects, are non-linear and thus produce output on the harmonic frequencies.

The first harmonic for a GSM900 MS can fall in the DCS1800 band, and the second can fall into the Air Traffic Control band.

The measurements show that use of these antennas increases the interference into the DCS band by up to 40 dB. The interfering level from a GSM MS in the DCS band has been measured to go up to 21 dBm, which is only 9 dB lower than a DCS MS operating at maximum power. Measurements for the Air Traffic Control band have not been performed.

As this interfering signal from the GSM 900 MS cannot be (power) controlled by the DCS operator, this MS has a significant impact on the performance of the DCS network, especially if the GSM900 MS is close to the DCS BTS. This gives rise to serious concern amongst the GSM operators.

SMG2 has no means of solving this problem, as the RF specification reference point is the antenna connector.

It is understood that regulators see the antenna as a passive device, that does not need regulation. This assumption can no longer be seen as valid, as the measurements show a significant impact of these on the efficient use of spectrum, and causing serious harm to other operators and services.

Furthermore, SMG2 is currently working on a new 8 PSK modulation for GSM. Twinkling antennas are expected to degrade the output spectrum mask.

TCAM is asked to consider which regulatory means exist or can be developed to solve these problems.

The other groups are asked to use their influence to minimise the problem created by twinkling replacement antennes.
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